Single-all transcription dynamics In experiments on single cells Johding and Co. measured the number of RNAS produced from a single gene : 80 100 40 60 120 15 10 +3 60 80 100 120 +2 80 100 10 40 20 120 time (min) Are these observations consistent with the simple model of RNA production, where RNA is produced at role r? In this experiment RNA is not degraded. Gren that the rate of production is I, how money RNAs one produced in a gevention time Tg (Tg = 70 min in Job's experiment)(N-1)st Tg = Nst O At 2at 3at 4at N=Ta/At: # of time intervals rat rat rat rat probability that an RNA is produced To produce a single cell trojectory, for every time interval pick a random number between 0 and 1. If this number is less then rat add one ENA. -> Write Python code and visually compose trojectories ...

To compose our model of RNA production to Job's experiments, we compute the probability distribution of M, the number of RNAs produced n time Tg.

0 at 2at 3at 4at 5at 6at 2at -----(N-1) at Tg = Nat

: these are the time intervals in which RNA is produced.

probability of RNA being produced in time interval st

$$p(m) = \frac{N!}{m! (N-ni)!} (1-rat)^{N-m}$$

$$probability of RNA not produced in st
multiplicity = # of ways of choosing in intervals from N
For rat << 1, N = $\frac{1}{64} \gg m$, since m is of order rTog (= 10 in
Idd's experiment)$$

In these limits the Brownial distribution becomes (it wants to be!!) Poisson.

$$P(m) = \frac{M^{m}}{m!} \left(\left(Tg/M \right)^{m} \left(1 - r \frac{Tg}{N} \right)^{N} \left(1 - r \frac{Tg}{N} \right)^{m} \left\{ \begin{array}{c} Jused N! = N^{m} \\ (U-m)! \\ when m < N \end{array} \right.$$

$$P(m) = \frac{(rTg)^{m}}{m!} e^{-rTg} \left\{ Jused : \left(1 - \frac{x}{N} \right)^{N} = e^{-x} \text{ for } N \gg 1 \\ \left(1 - \frac{x}{N} \right)^{m} = 1 \text{ for } N \gg m > 1 \end{array}$$

Poisson distribution

To compose to Jdd's data we can compare the mean and variance which he measures. (Could also compose the distributions directly as they do in the Zenklusen et d. poper).

Meon $\langle m \rangle = \sum_{m=0}^{\infty} \frac{\mu^m}{m!} e^{-\mu}, \mu \equiv r Tg$ $\langle m \rangle = e^{-\mu} \sum_{m=1}^{\infty} \frac{\mu^m}{(m-1)!} \left\{ \frac{m}{m(m-1)(m-2)} = \frac{1}{(m-1)!} ; \sum_{m=1}^{\infty} \frac{1}{m(m-1)(m-2)} \right\}$

